TRABAJO AUTONOMO SEMANA 14

FACTORAR

27°) (a+b)x+ (a+b)y— (a+b)z
28°) (a+3)x*+ (a4 3)y?

29°) (x—yla’+ (x—y)B2 + (x —y)&?
30°) (a+b+ic)x+ (a4 b+'e)y.

25°) 3a%2 —7b% —9a 4 21ab? 26°) 14x—x*yz—x%yz
27°) ax-+bx+ay+by+tazt+bz 28°) ax—bx+ cx+ ay®—by?+ cy?
29°) 3am+2bm—m?—6an—4bn-+ 2mn

11°) 81a®> —90ab + 25h2 12°) 64 — 48z + 92°
13?) 121a% -4 88ax - 16x? 14°) 1 —12m+ 36m?
1

15°) x2+4x+4 o 16°) a? —0,5a -+ 0,0625
17°) x?y? —4xyz 442 18°) 4a% 4 28abc 4 49b%c?

199) 4x2yp222 — b8 20°) 144x2y* — 28
21°) at—x* 22°) (a+4b)2—¢c?
239) 16 — b 249) (a—b)2—a?
99) 1 —a?—4ax—4x° 10°) 25 —m? —n? 4+ 2mn
11°) 6xy — 9x% — y? 4 22 12°) 30ab — 25a%?+ 4c® —9b2

24°) 25x' 4 12x* 4+ 10a2x2 —9x" 4 a* — 4
25°) x?y? —zt —2xy -+ 1—42°p> —4b!
26°) x2—2xz—1—y2+42y+ 22

29) a’b¥4 ¢ 29) a% — b3c*
4°) x*48 49) x®—125
6°) 27x% 41 6°) 8x% — 125y°
8°) a1 8°) a%—32

10°) 32a° 4 243b% 1090) 243a% — 32b%
129) 2%+ y10 129) x10 —as.



29)
49)
6°)
89)

a® — Bb°

x° — 64y®
aIO — x10



